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	General Instructions to candidates :
	 •	 There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

	 •	 Use‘cool off time’ to get familiar with questions and to plan your answers.

	 •	 Read questions carefully before answering.

	 •	 Calculations, figures and graphs should be shown in the answer sheet itself.

	 •	 Malayalam version of the questions is also provided.

	 •	 Give equations wherever necessary.

	 •	 Electronic devices except non programmable calculators are not allowed in the 
Examination Hall.

v]h|L¡À]W¥¨Oç RkLfOj]¡SÇw°¥ :

	 •	 j]¡Ç]xVa yop¾]jV kOrRo 15 o]j]ŸVV "WP¥ KLlV RRaU' DºLp]q]¨OU. 

	 •	 "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU R\áLjOU 
DkSpLY]¨OW.

	 •	 D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

	 •	 We¨V WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ DºLp]q]¨eU.

	 •	 S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

	 •	 Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

	 •	 SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO CsSNW›Le]WV 
		  DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]Š.
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PART – A

(Accountancy)
	
Answer any four questions from 1 	to 5. Each carries 1 score.	 (4×1=4)

	 1.	 Minimum number of persons required to form a Partnership firm is ________
	 a)	5	 b)	 10	 c)	 2	 d)	 4

	 2.	 ________ is the present value of a firm’s anticipated excess earnings.
	 a)	Goodwill			   b)	 Capital	
	 c)	Reserve			   d)	 None of these

	 3.	 _______ is the excess profits earned by a firm over and above its normal profit.
	 a)	Average profit			   b)	 Super profit	
	 c)	Total profit			   d)	 Last year’s profit

	 4.	 Which of the following amount is not due to the retiring partner ?
	 a)	His capital account balance	
	 b)	His share of goodwill in the firm
	 c)	His wife’s loan account balance	
	 d)	His share in accumulated profits

	 5.	 On dissolution of firm, which one will be paid last ?
	 a)	Partner’s capital			   b)	 Partner’s loan
	 c)	Outsider’s liabilities			   d)	 None of these

Answer all questions from 6 	to 7. Each carries 2 scores.	 (2×2=4)

	 6.	 Write a short note on Partnership deed.

	 7.	 Anu and Binu are partners in a firm sharing profits in the ratio of 2:1. They admit Cinu 
as a new partner and their new ratio will be 2:1:1. Calculate sacrificing ratio.
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PART – A

(Accountancy)
	
1 oOf¤ 5 vRq JRfË]sOU jLsV S\Lh|°¥ V̈ D¾qRouOfOW. 1 SØL¡ v}fU.	 (4×1=4)

	 1.	 KqO kËLt]¾ òLkjU qPk}Wq]¨OÐf]jV Bvw|oLp JãvOU WOr´ v|©]
WtORa I¹U ________

	 a)	5	 b)	 10	 c)	 2	 d)	 4

	 2.	 ________ IÐfV KqO òLkj¾]R£ Nkf}ƒ]¨OÐ Ai]W vqOoLj¾]R£ 
CSÕLuR¾ oPs|oLeV.

	 a)	y¤SÕqV oPs|U			   b)	 oPsijU	
	 c)	WqOf¤			   d)	 CvRpLÐOosæ

	 3.	 _______ KqO òLkjU Af]R£ yLiLqe sLnS¾¨L¥ Ai]WoLp] Sja]p 
sLnoLeV.

	 a)	wqLwq] sLnU			   b)	 Ai]W sLnU	
	 c)	RoL¾U sLnU			   d)	 Wu]´ v¡xR¾ sLnU

	 4.	 Cj]ÕrpOÐ fOWWt]¤ JfLeV v]qo]¨OÐ kËLt] V̈ sn]¨L¾fV ?
	 a)	AvR£ oPsij A¨TºV mLs¢yV	
	 b)	y¤SÕqV oPs|¾]¤ AvR£ kËV
	 c)	AvR£ nLq|pORa SsL¦ A¨TºV mLs¢yV	
	 d)	yµ]f sLn¾]¤ AvR£ kËV

	 5.	 KqO òLkjU Aa\ÿOkPŸOSÒL¥ JfLeV AvyLjU j¤SWºfV ?

	 a)	kËLt]pORa oPsijU		  b)	 kËLt]pORa vLp×

	 c)	kOr¾OçvqORa mLi|fW¥	 d)	 CvRpLÐOosæ

6 oOf¤ 7 vRqpOç IsæL S\Lh|°¥¨OU D¾qU j¤WOW. 2 SØL¡ v}fU.	 (2×2=4)

	 6.	 kËLt]¾ DaÒa]Rp¨Or]\ÿV KqO sZOv]vqeU IuOfOW.

	 7.	 AjOvOU m]jOvOU 2:1 IÐ AjOkLf¾]¤ sLnU kË]aOÐ òLkj¾]¤ kËLt]
WtLeV. Av¡ KqO kOf]p kËLt]pLp] y]jOv]Rj S\¡¨OWpOU AvqORa kOf]p sLn 
AjOkLfU 2:1:1 Bp] f}qOoLj]¨OWpOU R\pÅO. f|LY AjOkLfU We¨L¨OW. 
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	Answer any two questions from 8 	to 10. Each carries 3 scores.	 (2×3=6)  

	 8.	 List out any three features of Partnership firm.

	 9.	 Profits of a firm for the last five years are as follows :

Year 2018 2019 2020 2021 2022
Profits 24,000 20,000 28,000 22,000 26,000

		  Calculate value of goodwill at three years purchase of average profits.

	 10.	 Write any three differences between sacrificing ratio and gaining ratio.

Answer all questions from 11 	to 12. Each question carries 4 scores.	 (2×4=8)

	 11.	 Explain any four factors affecting the value of goodwill.

	 12.	 Distinguish between Dissolution of partnership and Dissolution of firm.	

Answer all questions from 13 	to 14, each carries 5 scores.	 (2×5=10)

	 13.	 From the following information prepare Profit and Loss Appropriation account.

	 a)	Unni and Benny are partners in a firm sharing profits in the ratio of 2:1.

	 b)	Capital balance on 1st April 2022 were Unni ` 50,000 and Benny ` 60,000.

	 c)	Partnership deed provides interest on Capital @ 10% pa.

	 d)	Unni was entitled for a salary of ` 20,000 and Benny will receive a commission  
of  ` 15,000.

	 e)	Drawings during the year were Unni ` 5,000 and Benny ` 6,000 and interest on 
drawings were Unni ` 200 and Benny ` 300.

		  Profit made by the firm during the year were ` 75,500.

	 14.	 Mr. Sudeep a partner in firm retired from the firm on 31st March 2023 and his capital 
account shows a balance of ` 65,000 on that date. As per deed amount due to him will 
be paid as ` 15,000 immediately in cash and balance in four equal annual instalment 
with an interest at 10% pa. Prepare Sudeep’s Loan account.
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 8 oOf¤ 10 vRq JRfË]sOU qºV  S\Lh|°¥ V̈  D¾qRouOfOW. 3 SØL¡ v}fU.	 (2×3=6)  

	 8.	 kËLt]¾ òLkj¾]R£ JRfË]sOU oPÐV yv]SwxfW¥ kŸ]WRÕaO¾OW.

	 9.	 KqO òLkj¾]R£ AvyLj AµV v¡xR¾ sLnU CNkWLqoLeV.

v¡xU 2018 2019 2020 2021 2022
sLnU 24,000 20,000 28,000 22,000 26,000

		  wqLwq] sLn¾]R£ oPÐV v¡xR¾ vL°¤ v]sp]¤ y¤SÕqV oPs|U We¨L¨OW.

	 10.	 f|LY AjOkLfvOU SjŸ AjOkLfvOU fÚ]sOç JRfË]sOU oPÐV v|f|Ly°¥ 
IuOfOW.

11 oOf¤ 12 vRqpOç IsæL S\Lh|°¥¨OU D¾qRouOfOW. 4 SØL¡ v}fU.	 (2×4=8)

	 11.	 y¤SÕqV oPs|¾]R£ v]sRp mLi]̈ OÐ JRfË]sOU jLsV ZaW°¥ v]wh}Wq]̈ OW.

	 12.	 kËLt]¾U AvyLj]Õ]¨sOU kËLt]¾ òLkj¾]R£ Aa\ÿOkPŸsOU fÚ]sOç 

v|f|Ly°¥ IuOfOW.	

13 oOf¤ 14 vRq IsæL S\Lh|°¥¨OU D¾qRouOfOW. 5 SØL¡ v}fU.	 (2×5=10)

	 13.	 Cj]ÕrpOÐ v]vq°t]¤ j]ÐV sLnjì v]j]SpLY A¨TºV fáLrL¨OW.
	 a)	2:1 IÐ AjOkLf¾]¤ sLnU kË]aOÐ òLkj¾]¤ D¹]pOU RmÐ]pOU kËLt]

WtLeV.
	 b) 	2022 JNk]¤ 1&Rs oPsij j}¨]p]q]ÕV D¹] ` 50,000 DU RmÐ] ` 60,000 DU  

Bp]qOÐO. 
	 c)	kËLt]¾ DaÒa] AjOyq]\ÿV oPsij¾]jV @ 10% pa ks]w j¤WOÐO.
	 d)	D¹] V̈ ` 20,000 wÒt¾]jV A¡zfpOºV. RmÐ] V̈ ` 15,000 WÚ}x¢ sn]¨OU.
	 e)	f¢ v¡xU D¹] ` 5,000 DU RmÐ] ` 6,000 DU k]¢vs]\ÿO. f¢ kãO ks]w D¹]  

` 200 DU RmÐ]  ` 300 DU Bp]qOÐO. 

		 CT v¡xU òLkjU Sja]p sLnU 75,500 qPkpLeV.

	 14.	 KqO òLkj¾]Rs kËLt]pLp è}. yOh}kV 2023 oL¡\ÿV 31&jV òLkj¾]¤ j]ÐV  
v]qo]\ÿO. ASÇz¾]R£ oPsij A¨Tº]¤ B f}pf]p]¤ ` 65,000 j}¨]p]q]ÕV 
WLe]¨OÐO. DaÒa] NkWLqU ASÇz¾]jV j¤WLjOç fOW 15,000 qPk Da¢ 
keoLpOU mL¨] 10% ks]w yz]fU jLsV fOs| vL¡x]W YcO¨tLpOU j¤WOU. 
yOh}k]R£ SsL¦ A¨TºV fáLrL¨OW.
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Answer any one question from 15 	to 16, which carries 8 scores.	 (1×8=8)

	 15.	 Anju and Manju are partners sharing profits equally. They decided to admit Sanju as 
a new partner. On the date of admission the assets and liabilities are revalued and 
re-assessed as follows :

		A  ssets/Liabilities	 Book Value	R e-assessed  
	 (`)	 value (`) 

		  Land	 35,000	 40,000

		  Furniture	 3,000	 2,000

		  Building	 40,000	 42,000

		  Investment	 8,000	 5% less

		  Debtors	 10,000	        5%  Provision

		  Stock	 9,000	 12,000

		  Creditors	 6,000	 5,000

		  Bank overdraft	 7,000	 8,000

		  Prepare Revaluation account.

	 16.	 Prakash, Anil and Prasad are partners in a firm sharing profits in the ratio of 3:2:1. Their 
Balance sheet as on 31st March 2022 were as follows :

Balance Sheet as on 31st   March 2022

		  Liabilities	A mount	A ssets	A mount
			   (`) 		   (`) 	  

		  Creditors	 30,000	 Cash	 6,000

		  Bills payable	 44,000	 Bank	 10,000

		  Bank loan	 70,000	 Building	 1,70,000

		  Capital :		  Furniture	 64,000

		    Prakash	 1,00,000	 Machinery	 56,000
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15 oOf¤ 16 vRq JRfË]sOU KqO S\Lh|¾]jV  D¾qRouOfOW. 8 SØL¡ v}fU.	 (1×8=8)

	 15.	 AÆOvOU oÆOvOU fOs| AjOkLf¾]¤ sLnU kË]aOÐ kËLt]WtLeV. yÆOv]Rj 
kOf]p kËLt]pLp] NkSvw]Õ]¨L¢ Av¡ f}qOoLj]\ÿO. NkSvwj f}pf]p]¤ Bñ]
WtOU mLi|fWtOU Cj]ÕrpOÐ q}f]p]¤ kOj¡oPs|j]¡epU R\áOÐO.

		  Bñ]W¥/mLi|fW¥	 mO¨]sOtt oPs|U	 kOj¡oPs| j]¡¹p  
	 (`)	 v]s (`) 

		  nPo]	 35,000	 40,000

		  l¡e]\ÿ¡	 3,000	 2,000

		  RWŸ]aU	 40,000	 42,000

		  j]SƒkU	 8,000	 5% WOrvV

		  cmVSãuVyV	 10,000	         5% WqOf¤

		  SðL V̈	 9,000	 12,000

		  RNWc]SãuVyV	 6,000	 5,000

		  mLËV KLv¡NcLlVãV	 7,000	 8,000

		  r}vLsOSvx¢ A¨TºV fáLrL¨OW.

	 16.	 NkWLwV, Aj]¤, NkyLhV IÐ]v¡ 3:2:1 IÐ AjOkLf¾]¤ sLnU kË]aOÐ 
òLkj¾]¤ kËLt]WtLeV. 2022 oL¡\ÿV  31-Rs AvqORa mLs¢yV x}ãV  
CNkWLqoLp]qOÐO. 

2022 oL¡\ÿV 31-Rs mLs¢yV x}ãV

		  mLi|fW¥	 fOW	 Bñ]W¥	 fOW
			   (`) 		   (`) 	  

		  RNWc]SãuVyV	 30,000	 W|LxV	 6,000

		  AapVS¨º m]sæOW¥	 44,000	 mLËV	 10,000

		  mLËV vLp×	 70,000	 RWŸ]aU	 1,70,000

		  oPsijU :		  l¡e]\ÿ¡	 64,000

		    NkWLwV	 1,00,000	 Rox]jr]	 56,000
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		      Anil	 1,20,000	 Stock	 34,000

		      Prasad	 1,40,000	 Debtors	 64,000

				    Loose Tools	 1,00,000

			   5,04,000					     5,04,000	

		  On the above date, they dissolve the firm. Assets realised as :

		  Building ` 1,75,000, Furniture ` 67,000, Machinery `  53,000, Stock ` 35,000,  
Debtors (5% Less), Loose Tools ` 1,02,000. 

		  Liabilities were paid as :

		  Creditors ` 29,000, Bills payable ` 47,000, Bank loan (Full).

		  Prepare Realisation account.
PART – B

(Analysis of Financial Statements)
	
Answer any four questions from 17 	to 21. Each carries 1 score.	 (4×1=4)

	 17.	 The amount of capital offered to the public by a company to be subscribed is called

	 a)	Issued Capital			   b)	 Authorised Capital

	 c)	Subscribed Capital			   d)	 Paid up Capital

	 18.	 The persons who contribute money through the debentures of a company are
	 a)	Owners			   b)	 Creditors
	 c)	Debtors			   d)	 None of these

	 19.	 Which of the following is not an objective of preparing Financial Statements ? 

	 a)	Provide information about economic resources of a business.

	 b)	Provide information about the earning capacity of the business.

	 c)	Not disclosing accounting policies.

	 d)	Provide information about cash flows.
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		      Aj]¤	 1,20,000	 SðL V̈	 34,000

		      NkyLhV	 1,40,000	 cmVSãuVyV	 64,000

				    sPyV aP¥yV	 1,00,000

			   5,04,000					     5,04,000	

		  oOWt]¤ kr´ f}áf] V̈ Av¡ òLkjU Aa\ÿOkPŸOÐO. Bñ]W¥ r]pRRsyV  
R\pÅfV :

		  RWŸ]aU ` 1,75,000, l¡e]\ÿ¡ ` 67,000, Rox]jr] `  53,000, SðL V̈  ` 35,000,  
cmVSãuVyV (5% WOrvV ), sPyV aP¥yV  ` 1,02,000. 

		  mLi|fW¥ CNkWLqU Aa\ÿO :

		  RNWc]SãuVyV  ` 29,000, AapVS¨º m]sæOW¥ ` 47,000, mLËV SsL¦ (oOuOv¢).

		  r]pRRsSyx¢ A¨TºV fáLrL¨OW.
PART – B

(Analysis of Financial Statements)

17 oOf¤ 21 vRq JRfË]sOU jLsV  S\Lh|°¥ V̈ D¾qRouOfOW. 1 SØL¡ v}fU.	 (4×1=4)

	 17.	 JRãaO¨RÕaOÐf]jLp] KqO WÒj] RkLfO^j°¥ V̈ vLYÉLjU R\áOÐ oPsij 
¾]R£ fOWRp ____________ IÐV v]t]¨OÐO.

	 a)	kOrRÕaOv]\ÿ oPsijU	 b)	 AUY}WQf oPsijU

	 c)	JRãaO¨RÕŸ oPsijU	 d)	 AaàRÕŸ oPsijU

	 18.	 WÒj]pORa WaÕNfU vu] keU j]Sƒk]¨OÐ v|©]W¥ ____________ BeV.

	 a)	DaoW¥			   b)	 RNWc]SãuVyV

	 c)	cmVSãuVyV			   d)	 CvRpLÐOosæ

	 19.	 fLRuÕrpOÐvp]¤ JfLeV ijWLq| kNf]WW¥ fáLrL¨OÐf]R£ sƒ|osæL¾fV ? 
	 a)	m]y]jô]R£ yLÒ¾]W WLq|°Rt¨Or]\ÿOç v]vq°¥ j¤WOW.

	 b)	m]y]jô]R£ vqOoLj Swx]Rp¨Or]\ÿOç v]vq°¥ j¤WOW.

	 c)	A¨Tº]UYV jp°¥ Rvt]RÕaO¾OÐ]sæ.

	 d)	keRoLuO¨]Rj¨Or]\ÿOç v]vq°¥ j¤WOW.
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	 20.	 ____________ is a non-cash item.
	 a)	Salary			   b)	 Interest received
	 c)	Depreciation			   d)	 None of these

	 21.		 Common size statements is also called as ___________ 
	 a)	Trend analysis			   b)	 Horizontal analysis
	 c)	Vertical analysis			   d)	 None of these

	Answer all questions from 22 to 23. Each carries 2 scores.	 (2×2=4)

	 22.		 Arya Ltd. purchased machinery worth Rs. 1,00,000 from Ameya Ltd. The payment was 
made by issue of 12% debentures of Rs. 100 each. Pass the necessary journal entries 
for the purchase of machinery and issued debentures at par.

	 23.		 List out any two tools of analysis of financial statements.

	Answer any two questions from 24 to 26. Each carries 3 scores.	 (2×3=6)

	 24.		 Find out the features of a public company from the following :
	 a)	Separate legal entity
	 b)	Unlimited liabilities
	 c)	Perpetual succession	
	 d)	Non-transferability of shares
	 e)	Common seal.

	 25.		 ABC Ltd., has furnished the following information :
	 a)	20,000, 10% debentures of Rs. 100 each.
	 b)	Bank loan of Rs. 5,00,000 repayable after 5 years.
	 c)	Interest on debentures is yet to be paid.

		  Show the above items in the Balance Sheet of the company as at March 31, 2023.

	 26.	 Match Column A with Column B.

		

A B
a) 	Liquidity ratio a)	 Fixed assets turnover ratio
b) 	Solvency ratio b)	 Current ratio
c)	 Activity or turnover ratio c)	 Proprietary ratio



SY 729 Accountancy with Analysis of Financial Statements 11/15

*SY729*	

Score
	 20.	 ____________ KqO kep]fq CjoLeV.
	 a)	wÒtU			   b)	 ks]w sn]\ÿfV
	 c)	oPs|ƒpU			   d)	 CvRpLÐOosæ

	 21.		 RkLfOoLjh¼ kNf]WWRt ____________ IÐOU v]t]¨OÐO. 
	 a)	Nkvef v]wWsjU			  b)	 f]qé}j v]wWsjU
	 c)	sUm v]wWsjU			   d)	 CvRpLÐOosæ

	22 oOf¤ 23 vRqpOç  IsæL S\Lh|°¥¨OU D¾qU j¤WOW. 2 SØL¡ v}fU.	 (2×2=4)

	 22.	 Bq| s]o]ãcV ASop s]o]ãc]¤ j]ÐV 1,00,000 qPkpORa pNÍyLoNY]W¥ vL°]. 
100 qPk v}foOç 12% WaÕNf°¥ Cx|P R\pÅLeV keoa\ÿfV. pNÍyLoNY]W¥ 
vL°OÐf]jOU fOs|oLp] Cx|P R\pÅ WaÕNf°¥ oOXv]sàV j¤WOÐf]jOU 
Bvw|oLp S^e¤ I¢Na]W¥ IuOfOW.  

	 23.		 ijWLq| kNf]WWtORa v]wWsj¾]R£ JRfË]sOU qº VDkLi]W¥ kŸ]WRÕaO¾OW.

	 24 oOf¤ 26 vRq  JRfË]sOU qºV  S\Lh|°¥ V̈  D¾qRouOfOW. 3 SØL¡ v}fU.     (2×3=6)

	 24.		 Cj]ÕrpOÐvp]¤ j]ÐV KqO kmæ]WV WÒj]pORa yv]SwxfW¥ WRº¾OW.
	 a)	NkSf|W j]po òLkjU
	 b)		kq]i]p]sæL¾ mLi|fW¥
	 c)	wLw~f k]ÍOa¡\ÿ	 	
	 d)		KLzq]WtORa RRWoLãU R\áL¾fV 
	 e)	RkLfOoONh

	 25.		 Im]y] s]o]ãcV, Cj]ÕrpOÐ v]vq°¥ j¤W]p]ŸOºV.
	 a)	20,000, 	100 qPk v}fU v]spOç 10% WaÕNf°¥.
	 b)	5 v¡x°¥ V̈ SwxU f]q]\ÿaàLvOÐ 5,00,000 qPkpORa mLËV vLp×.
	 c)	WaÕNf°tORa ks]w Cj]pOU j¤W]p]Ÿ]sæ.
		 2023 oL¡\ÿV 31-Rs WÒj]pORa mLs¢yV x}ã]¤ oOWt]¤ kr´ Cj°¥ 

WLe]¨OW.	

	 26.	 SWLtU A SWLtU B pOoLp] S\qOUka] S\¡¨OW.

			 

A B
a) 	Nhvef AjOkLfU a)	 ò]qLñ] SaSeLv¡ AjOkLfU

b) 	Sspf~ AjOkLfU b)	 Wr£V AjOkLfU

c)	 Nkv¡¾j v]ãOvqvV AjOkLfU c)	 RNkLRRNkãr] AjOkLfU
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	Answer all questions from 27 to 28. Each carries 4 scores.	 (2×4=8)

	 27.		 Write any four differences between equity shares and preference shares.

	 28.		 Find out the tools of analysis of financial statements from options given in the  
brackets.

	 a)	Relationship of each item with a common item in percentage.
	 b)	Assess the profitability and efficiency.
	 c)	Changes over a series of years.
	 d)	Using same accounting principles.
		  (Comparative statements, Common size statements, Trend analysis, Ratio analysis)

	Answer all questions from 29 to 30. Each carries 5 scores.	 (2×5=10)

	 29.		 Anaswara Limited issued 10000, 8% debentures of Rs. 100 each, at a premium of  
Rs. 10 per debenture payable as follows :

		  On application Rs. 25
		  On allotment Rs. 45 (including premium)
		  On first and final call Rs. 40
		  The debentures were fully subscribed and all money was duly received.
		  Record the necessary entries in the books of the company.

	 30.		 Explain the major cash inflows and outflows from financing activities.

	Answer any one question from 31 to 32. Each carries 8 scores.	 (1×8=8)

	 31.		 Complete the following journal entries.

	 Date	 Particulars	LF	D  ebit	C redit
					    `	 `

	 a)	 Bank A/c                    Dr		  ____	
		  To __________			   ____
		  (Application money received for 40000	  

 shares @ 3 per share)
	 b)	 Share application      Dr		  ____
		  To __________			   ____
		  (Application money transferred to share 

capital)
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	27 oOf¤ 28 vRqpOç  IsæL S\Lh|°¥¨OU D¾qU j¤WOW. 4 SØL¡ v}fU.	 (2×4=8)

	 27.		 yLiLqe KLzq]WtOU oO¢YejL KLzq]WtOU fÚ]sOç JRfË]sOU jLsV 
v|f|Ly°¥ IuOfOW.

	 28.	 NmL¨ã]¤ j¤W]p]q]¨OÐ DkLi]Wt]¤ j]ÐV ijWLq| kNf]WWtORa v]wWsj 
¾]jOç DkWqe°¥ WRº¾OW.

	 a)	wfoLj¾]¤ KqO RkLfO CjvOoLp] KLSqL Cj¾]R£pOU mÌU.
	 b)	sLnƒofpOU WLq|ƒofpOU v]sp]qO¾OW.
	 c)	v¡x°tORa KqO kqÒqp]Rs oLã°¥. 
	 d)	yoLj A¨Tº]UYV ff~°¥ DkSpLY]\ÿV.
		  (fLqfo| kNf]WW¥, RkLfOoLjh¼ kNf]WW¥, Nkvef v]wWsjU, AjOkLf 

v]wWsjU)

29 oOf¤ 30 vRqpOç  IsæL S\Lh|°¥¨OU D¾qU j¤WOW. 5 SØL¡ v}fU.	 (2×5=10)

	 29.		 Ajw~q s]o]ãcV 10,000, 100 qPk v}fU v]spOç 8% WaÕNf°¥ Cx|P R\pÅO. 
KLSqL WaÕNf¾]jOU 10 qPk v}fU Nk}o]pU j¤WeU. 
ASkƒpORa WPRa 25 qPk 

		  ASsLŸVRo£V yop¾V 45 qPk (Nk}o]pU D¥RÕRa)
		 Bh|S¾pOU AvyLjS¾pOU SWLt]jV 40 qPk
		 WaÕNf°¥ kP¡¹oLp] JRãaO¨RÕaOWpOU IsæL kevOU WQf|oLp] 

sn]¨OWpOU R\pÅO. 
		 WÒj]pORa kOñW°t]¤ Bvw|oLp I¢Na]W¥ SqXRÕaO¾OW.

	 30.	 ijWLq| Nkv¡¾j°t]¤ j]ÐOç NkiLj ke BYoj j]¡Yoj°¥ 
JRfsæLRoÐV v]wh}Wq]¨OW.

	31 oOf¤ 32 vRq JRfË]sOU  KqO S\Lh|¾]jV D¾qRouOfOW. 8 SØL¡ v}fU.	 (1×8=8)
	 31.		 Cj]ÕrpOÐ S^e¤ I¢Na]W¥ kP¡¾]pL¨OW.

	 f}áf]	 v]whLUw°¥	LF	  Rcm]ãV	 RNWc]ãV
					    `	 `
	 a)	 mLËV  A/c                         Dr		  ____	
		  To __________			   ____
		  (KLSqL Rxpr]jOU 3 v}fU 40000  

RxprOW¥ V̈ ASkƒ]\ÿ keU)
	 b)	 Rxp¡ BUkæ]S¨x¢       Dr		  ____
		  To __________			   ____
		  (ASkƒ keU KLzq] 

oPsij¾]Ss V̈ oLã])
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	 c)	 ______________       Dr		  ____
		  To Share capital			   ____
		  (Allotment money due on 40000 shares 

@ Rs. 3 per share)
	 d)	 ______________       Dr		  ____
		  To Share allotment			   ____
		  (Allotment money received for 40000 

shares @ 3 per share)
	 e)	 Share first call            Dr		  ____
		  To ____________			   ____
		  (First call money due on 40000 shares 

@ Rs. 2 per share)
	 f)	 _______________     Dr		  ____
		  To Share first call			   ____
		  (First call money received for 40000  

shares @ 2 per share) 
	 g)	 _______________     Dr		  ____	
		  To Share capital			   ____	
		  (Second call money due on 40000  

shares @ Rs. 2 per share)	
	 h)	 Bank                           Dr		  ____
		  To _____________			   ____	
		  (Second call money received for 40000  

shares @ 2 per share)

	 32.	 Given the following information :
	 Sales 		  ` 85,000
	 Cost of goods sold	 ` 30,000
	 Selling expenses	 ` 20,000
	 Administrative expenses	 ` 10,000
	 Calculate Gross profit ratio and Operating ratio.

___________________
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	 c)	 ______________               Dr		  ____
		  To Rxp¡ W|Lk]ã¤			   ____
		  (40000 RxprOWt]¤ ASsLŸVRo£V keU

			  KqO Rxpr]jV 3 qPk v}fU WLsLvi]pLp])
	 d)	 ______________               Dr		  ____
		  To Rxp¡ ASsLŸVRo£V			   ____
		  (KLSqL Rxpr]jOU 3 v}fU 40000 
		  RxprOW¥ V̈ ASsLŸVRo£V keU sn]\ÿO)
	 e)	 Rxp¡ lðV WL¥              Dr		  ____
		  To ____________			   ____
		  (Bh| SWL¥ oe] 40000 RxprOWt]¤ KqO 

Rxpr]jV 2 qPk v}fU WLsLvi]pLp])
	 f)	 _______________             Dr		  ____
		  To Rxp¡ lðV WL¥			   ____
		  (KLSqL Rxpr]jOU 2 v}fU 40000 
		  RxprOW¥ V̈ Bh|oLp] SWL¥ oe] sn]\ÿO) 
	 g)	 _______________             Dr		  ____	
		  To  Rxp¡ W|Lk]ã¤			   ____	
		  (40000 KLzq]Wt]¤ qºLoR¾ SWL¥ oe]  

KqO Rxpr]jV 2 qPk v}fU WLsLvi]pLp])	
	 h)	 mLËV                                 Dr		  ____
		  To _____________			   ____	
		  (KqO Rxpr]jV 2 v}fU 40000 RxprOW¥ V̈ 

		  qºLoR¾ SWL¥ oe] sn]\ÿO)

	 32.	 Cj]ÕrpOÐ v]vq°¥ sn|oLeV 
	 Ryp]¤yV 	 ` 85,000
	 v]ã yLij°tORa v]s	 ` 30,000
	 v]¤Õj R\svV	 ` 20,000
	 AcVo]j]SNy›ã}vV R\svOW¥	 ` 10,000
	 RoL¾ sLn AjOkLfvOU Nkv¡¾j AjOkLfvOU We¨L¨OW.

___________________


